The 2ol CB =Y 0
t}. AB 7} 99| x20]x CDLBD
o o, AC 9] Zo]=?

O 2cm @ 4em
® 2v3cm @ 3v2cm
® 42cm

B \

/ACB =90°, /BAC = /BCD °o|B.&
AABC © ACBD (AA &)

.. 8: BC=BC:6

%2 =48, BC = 4vV3cm

. AC= /82-(4V3)2=4cm




2.

ohe 13 o] 5 o] FAelA 1

o0 o] gol=?

® 121x @ 144r ® 169r

D

@19671’

® 2257

S5
PT° = PAxPB = PC xPD
4x15=2x%(2+2r)

60 =2 x (2 +2r)
r=14
- m(14)% = 1967




o0& 21 dB, C, D, FET Y A
flell 31& o, BC 9] Zol=?

®2v2 @23 @21 @2vB 62V

AFxAC=ADXxAB=0°|E&
4(44+x)=3-8
o K= 2

AABF |4 BF = V82 — 42 = 4+/3
ABFC of|A BC = /(4 V3)2+22 = 213




